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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.

2x10=20
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a)

b)

Mention two assumptions of Cardinal Utility

theory.
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Draw the indifference curve map for two

perfectly complementary goods.
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State and explain the transitivity axiom of

Revealed Preference approach.
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d)

g)

h)

i)
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Is it correct to state that the marginal rate of
substitution (MRS) between two perfectly
substitute goods must be 1?
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Define risk premium.
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Draw the individual labour supply curve in a
labelled diagram.
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Draw the total fixed cost and average fixed cost
as a function of output.
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Find the value of MRTS, , from the production
function: Y=A4K" L%
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State the law of equi-marginal utility.
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When the expansion path of a production

function will be a straight line?
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k)

D

p)
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Distinguish between marginal physical product
and marginal revenue product.
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Why are both buyers and sellers price-takers in

a perfectly competitive market?
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What do you mean by derived demand for input?
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Distinguish between the break-even point and
shut-down point.
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Does the assumption of Constant Returns to
Scale contradict that of the law of variable

proportion?
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What will be the shape of the industry supply
curve under perfect competition if external
economies dominate external diseconomies?
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Answer any four questions: 5x4=20
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2.
a)
b)
c)
d)
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How does the weak axiom of revealed
preference differ from the strong axiom of

revealed preference? Discuss.
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Distinguish between cardinal utility and ordinal

utility. State the main properties of ordinal utility
in this context. 2+3=5
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Explain the derivation of the long run average
cost curve from the short run average cost

curves.
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Distinguish between economies and
diseconomies of scale. How is the shape of the
LAC curve influenced by economies/

diseconomies of scale? 2+3=5
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3.  Answer any two questions:

State and prove the properties of homogeneous

production function.
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Define elasticity of substitution. Mention the
range of elasticity of substitution. State the
relationship between the value of elasticity of

substitution and the slope of an isoquant.
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10x2=20

@-ie g6 eeas Ted vie ¢

a)
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What do you mean by risk? How does the risk
taking behaviour influence the decision making
process of an individual? Differentiate among
risk averse, risk neutral and risk loving

individual in this context. 2+2+2+2+2=10
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b)

d)
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Explain the short run equilibrium of a firm under
perfect competition. Explain the profit
prospects of the competitive firm in the short
run. 6+4=10
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Derive the labour demand curve by a competitive

firm when labour is the only variable factor of
production. Derive the market demand curve for
labour from the individual labour demand curves.
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Define average cost, average variable cost,

average fixed cost and marginal cost. How do
you derive average cost from average variable
cost and average fixed cost in the short run?
6+4=10
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